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Functions: find f(2) and f(-3)

® 1) f(¥)=-32" +4x" +10x-7 £()= & {(-3)= 8o
® 2) g(x)=2x"=5x* -6x?+7 £(2)=-26  £(-3)=250
® 3) A(x)=6x"-32*~-8x-2 £(\= ¢ £(-3)= -\
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Composition: find f(g(x))

® 1) f(x)=3x+2.....8(x)=5x—-2 £(glA)= ISx-1

® 2) f(x)=x"-5..g(x)=3x-4 £ = Ak’ -24 % 4\
® 3) f(x)=x" —dx+2....gx)=x+2 £ (g0 = -2

Page 3



Operations: Subtract and multiply
* 1) f(x)=2x-4...g(x)=3x-5

*2) f(x)=x"+4..g(x)=3x-1
®3) f(x)=5x+2...g(x)=x* -3

® (£-9)N = —xa) (£-9)( = L' -22% 4+ 20

® (4-g\(N = L -3xss (P = 37— %7 wx-y

© (\C—j)cﬁ\ = - iska § (£:9)(%) > S L2l gy -

Page 4



Y=mx+Db

. l‘)(‘352)$ (“4" 1) o = % 1S
= 2') (51 ‘2); (2;4) %" - &k
*3)(:3,4,2,4) 4-4




Inverse: find f1

* 1) f(x)=-3x+2
*2) g(x)=x-5

*3) W=

@ ?:- A x 2
L= -S4+
k-2 = -39
% -2

"‘—

E"f =

2x+4

@3""€
L‘a—s

A+S F 33

4= A

2y x &
a—————

w= 2ar9

Cw= '23*'-\
-9 = 23

}’F (‘\_ S& ‘-ﬂ
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Synthetic Division: divide
® 1)Gx -Tx +4x-2)+(x-2)
* 2)) 2x* =3x' +3x-5) +(x+2)
* 3) B2 -4x? =5x+2)+(x~4)

® al? -1 4 -2 E:-'Léz . f_—\
Y\'ooCe o mr M ——
2 -\ 2 2
‘ & -a|2 -3 3 -S 2y -l ST k—;?;,_g
| L -4 5 -\© —
| 2 4§ -1 q

® 413 -4 -s
‘_-L \2 31 \o%
2 %

21 Wwo
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Parent graphs
* Draw the parent graphs for: x? s x’ s .1‘4, \/: . ;xl s Q/;

\ x| 3T

(AR AV R

® Find Domain and Range for cach graph

bi (oo, o2) N A N i
B: fo, <) % fo. ) R (o, 0o)

D (o=, ) B bife, =) qx b (o, o

- (o 2 [o. v 2 -, )
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Transformations- describe them

. l.).\_?:q/’x—*4+3 R\antT 4 of 2
2 2) 3:=—x2+5 Cefieck x-axis, e S

*3) y=lr+4]-7 Left 4 . Down 1




Y

Transformations- write equation

® 1.)x% up 2, left 5, reflect over x-axis A= —(xes) +2
® 2.) absolute value, wider, right 2 4= $| -2|
® 3.) square root, thinner, down 3

94" 2k -3
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Transformations: find them from graph, then
find the domain
Letr € b -5, )
C\ahAT 2
uP 2
..... N: (o=, )
2{€kec; *~a xS
Letr 2 N (—o=, ec) Riahd 2 Ay (—, om)
Dowsn |\ 4
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Piecewise- find equation
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| Piecewise: Graph

* L) f(x)=x-2,x22
¥ =-3,x<2

* 2) g(x)="3xx>0

-x*+2,x<0
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Which function is represented by the graph?

Ya
_Il'\
EEEEEE
NP
gy
4 , >
~} 511 ~ - H
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st
I O O O s o O
11 J i . N
TTT T Iy L1
A 4
-

' -x-3, ifx<0

i I (%)=, %xﬂ, ifx>0

‘ [ x-3, ifx<0
B. f(x)=1
|

—ix+L ifx>0
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-X+3,

f(x)=11

J(x)

—x+1
2

- x+3,

-lx+L
2

ifx<o0

ifx>0

ifx<o0

ifx>0
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x+2ifx<S
~Ix-2ifx>5

Jx) =
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Domain- equation

2x—4
X =Tx+12

* L) fo= D (= Do) (R

. za) g(x)=;—'5_. D C—w,’sit)\)(,'s/?-; 3)0(3' =)

2x' —x-15

3x—-1
x*=25x

*3) )= b (oem9)u (-89 (0,¢)uLS, o=)

L Y,
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Asymptotes- equation-VA &HA

3

e 1) L A: x= 3 WA 5 noae
) f(x)= e
xXx*—=x—6
® 2) g(=—t? WA K= HA: = ©
R e oy,
x?.
o 3-) h(x)= 3 \‘A X=2 WA \‘:3

2
X - X= -2
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p 5 »

P o2 g @

a & % % & =

NN \(=-3! %

HA: 4= 0

"
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ROOtS-given roots- find equation, then graph
* I)rootsof 3and -5, 4- (x-2)(us<) > 4= £+24- 1S
®* 2)rootsof2,-2,0 4= (- =y %

® 3)rootsof 2, 2i, -2i 4= (£-2)(Cen) = 4= x> o2l a v -8

\
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ROO1S- roots from graph

-
3
3
3
a i A A
r
3
-
o
- I

= -3, -\, 3

ﬁ: '2‘ 6] (DLB . 3
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ROO1S- Find roots from equation

® 1) f()=x*+3x"-4x-12 x= -3,-2 2
® 2)g(x)=x*~4x+7 %= 22173
e 3.) h(x)=4x" -25x x=o, S S|2

s
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Factor: trinomials and grouping

'1.)y:x2—121 (o) (=)

o 2,)y:12x2—8x~—15 (2w-3) G ers)

. 3,)y=x3~—4x+5x2—*20 (L) (D) (2-2)
*4) y:::x3+5x—x2—5 (%~ (%2 + <)
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Quadratic formula: *»=—5;
* 1) f(x)=x"-6x+4 3205
*2)gx)=2x"+4x-3 -2:13
* 3,) A(x)=-3x" -2x+3
\ 3o
-3
\
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WAt =-2 WA: §=O HA: | =O
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Solve- log and In

* 1) log,4= 122

¢ 2)log,12= (277
©3)7 =14 -.cT%8

* 4)11"%1=2575 .1

* 5.)8e™* =36 -3.008

* 6.)343=13"" - (33
* 7.)log,(3x—4)=2 293

* 8.)log,x~log,5=7 cao
* 9.)2log,x=5 (5.58%
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Properties: expand
* 1) 10g4x2y3\/; 2\0341 - 3\034~| &> A2‘\05‘\1

.\‘(}--‘+5) Inyx 4 \n (\1\'5) - &% \n2Z
4
Z N

®*2.)In

* 3) logx:—4 \oé (¥x2) + \05 (%-2) -\05 %
X
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Properties: condense

* 1) log(x—3)+log(x+3)—logx '°3 =

e 2)6logx—7logy—4logz

°3) In3+31nx—%lnx

N

A
\03 \‘1{\

Q
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Word problems- interpret variables
Compounded A=P(1+%]m

ntinu
Continuous A _ Pert

Population P(t) = O

gggggg




Word Problems

* 1.) If $3000 is invested at 3.5% interest compounded

quarterly, what is the value after 10 years?

10
A= 3000( |+ ") 1 4250.72

* 2.) If $9500 is invested at 5% interest compounded daily,

what is the value after 7 ycars?
f) 2681

A= asoo( 1+ =

s S 13,480, 8]
* 3.) Problem # 2 compounded continuously.

A= 9500 e ik 413 481,14

Page 30




Word Problems (2)

® 4.)You invest $2500 in an account that carns 7% interest
compaundcd continuously. When will it double?
5600 = 2500 " ©

Q,q 36&5

* 5.)You invest $4550 in an account that earns 4,5% interest
compounded continuously. When will it be worth $10,000?

,0dS €
[0.000 = KESO e (7.§aears

® 6.)You invest $1000 in an account that is compounded
monthly. In 5 years it is worth §1475. Find the rate,

TS
g = oo (\+ 5‘_3

b0
—
Las = Q-» '\1)
“bo (o
LANS = U+ 5
Page 31
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Word Problems (3)

® 7.) The initial amount of bees is 50. They grow at a rate of
10% a day compounded continuously. Find the number of

bees in 20 days, A= SO’ 25 364 bees

¢ 8.)The initial amount of a mass of radium is 4.5 tons. It
decays at a rate of -.5% compounded continuously, Find the
amount of radium in 100 years.

-.008 (o)

A= 4.S e 2,719 Hons
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Convert

* To degrces:
1) 37r suo°

4 3
e2)3 |
=3 i
o — -(9'7.5
3.) 3

* To radians:
©1.)225 =%

n}

* 2.)-300° -sT
3

¢ 3.) 280°
4t
9
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Evaluate

e |.)sin30 ‘o
3

* 2) cos X 3
Y =

&>

3) tan 90" uny .
® 4 )sec(-150") —283
3

N, (:scE =2
) 6

6-) Cotr VUND
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Given trig- find trig
|

e 1.)If sin® = % in quadrant |, find cot®d  ~

3
* 2.) If cos® = -2/7in quadrant lll, find sin® 3&

* 3.)If csc® =3in quadrant |, find tan® {z
I.\
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Graph- describe the graph
® 1)y=3cos@-2 4=3 =27 down2
* 2.)Y=C0S(©-2) phase shitx 2 a=1 p=12W
©3.)Y=3€0520-2 a=3 - dounz

® 4.)Y=3005(20-2) a=3 p= & ghae sbi

® 1) y=-2sin(30)+4 welect, az2 o= 42
a 2) }}:3(:03(6-71‘)_«5 a=3 p=2W phase shitk W down §

o
’ 3) }’3“4*089(9'*' E) felleck a=1 phase sk -S_{
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Simplify
* 1.)sin’ @cos® @sec @ tan O

sin” @
™ 2i - cos6 -\
l+cost

¢ 3) sin® @cos fcot’ 8
cos’ 6

<> e
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Solve

l iy Sy 1y nw
* 1.)2cos’x+cosx=0 5,6 % T 0

® 2)2cos’x—cosx—1=0 o, 2%, =

e 3)sin’x-1=0 T &

A
2

.4_)25'tan2x—25x0?j ™ sr N
L L S 4 ! & !

£\
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Law of Sines
* 1)ymZ4=20°,mZC =100°%¢ =10,a=? 3,47

* 2)ymLA=35,mLB="15°a=54,b=" 404

* 3 msA=23°,mLB=34%a=3.23,c=7 z.2¢
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Law of Cosines

* 1)a=3,b=5c=7angleA=? 2\79°
®*2)a=4,b=8,c=11,angleB=17: 23.45"

®*3)a=2,b=7,c=8,angleB=? 53, 5§"
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